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WARM-UP...

Chinook winds are known to cause great changes in temperature over a short period of time.
The most extreme temperature change in a 24-hour period occurred in Loma, Montana, on

January 17, 1972. The temperature rose from -54 °F to 49 °F.

/A Chinook wind ia a
103 F warm, dry wind that\
blows east of the
Rocky Moutains, often]

a) What was the change in emperat/e >n degrees Fahrenheit?

b) What was the maxi in degrees causing significant
Celsius? A“"X temperature
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5.2 Mass in the Imperial System

« Mass - a measure of the quantity of matter in an object.

- "the amount of stuff".
- in an imperial system the 'slug' is a measure of mass.
* use of the pound is commonly used as a measure of mass.

« Weight - a measure of the force of gravity on an object.
- in an imperial system the pound is a measure of weight.

16 ounces (0z) = 1 pound (Ib) 1 oz - a slice of bread

1 Ib - football
1 ton (tn) = 2000 pounds (Ib) 1 t?\ _ aorf’;jult o

*** Compared to the Sl system...

11b=0.45359237kg OR |1kg=2.2Ilbs
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Mass vs. Weight

Mass - a measure of the quantity of
matter in an object.

Weight - a measure of the force of
gravity on an object.

So does this mean your mass changes
when you travel to the moon or does
your weight change?
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What does a scale measure?

I wonder who weighs 1701bs?
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Let's help Pierre with Math on the Job... p. 196

« Calculate the square footage... Pierre will need. .o

Calculate how many pounds of sand...
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Conversions Between Imperial Mass Units

ll?;foz = 11b ) Try these conversions:

[14n = 2000 Ibs\ 1250 0z = ]g(a Ibs

@200, /) 11, U751bs =
'Gox (7501bs = _ 0.%75 tn

015 by J;L‘)z DAt = _ ) lbs
. @‘HAKW

@/H/O\b')x ,ﬁr | ﬁl\
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EXERCISE: Copy and Complete the following Conversions!

16 ounces (0z) = 1 pound (Ib)
1 ton (tn) = 2000 pounds (Ib)

1y
(O 48 ounces = S pounds fe oL \b o¥
V/éﬁx&i*v@ dpounds=__ (oY ounces  [bw
&5’ ° @) 1.5 pounds = Y  ounces ! T s
2L.249L M2 tons = 4Opn  pounds Lo, |40
X,tq 6000 pounds = 3 tons oo " 5x 7000
&oz./‘ ) 1. © 80 ounces = 9 pounds
IL52\2) 8 pounds = q{/zg ounces { lysx %ﬁ
AEDY 1.5 tons = 5000 _ pounds
T *)/7)64 ounces = Y pounds

)4 '
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EXAMPLE 2:

CAG + Tlarcen ¥ LonD = (T84

The cab of Andy's semi-trailer weighs 8.7 tons and the trailer weighs 6.4 tons. If the
loaded gross weight of the truck is 21.3 tons, what is the weight of load in...

a) tons? —

b) pounds?

o:) a7

b) (Ozéjcl\/( w}
_§ [ En
o

G A - (3o b
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EXAMPLE 3:
YOz

@: of the same vegetables

Solution is... 1 1b 2-0z ($0.1217/0Zz)

ﬂ 4 1.49-1Z
, - 1241666667

A 2.19-15
— 22— - 1216666667

[ dex |92

1.49-17 Y
- 1951%24166566?42;//’ (7]
T U IZ1GEEEEET

A 12-ounce can of vegetables costs $1.49.

costs $2.19. Which is a better buy?

10
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HOMEWORK...

5.2 Worksheet - Mass in an Imperial System.docx

O

October 02, 2015
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Q 5.2 Worksheet - Mass in an Imperial System.docx
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Chapter 5.2 - Mass in an Imperial System
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